Global Cementing LLC

1958 E HWY 40 Russell, KS 67665

Invoice

3790.81

Date	Invoice #
6/9/2015	1671
Due Date	7/9/2015

Bill To M.G. OIL INC PO BOX 162 RUSSELL,KS 67665

785-445-4174

785-324-2658



P.O. No. Project

MCREYNOLDS T...

Quantity	Description	Rate	Amount
80 11	COMMON POZ GEL HANDLING BULK MILEAGE	16.75 7.50 23.50 2.10 105.50	2,010.00T 600.00T 258.50T 443.1 105.5
	1" DOWNBACKSIDE TO CIRCULATE CEMENT TO SURFACE PUMP TRUCK MILEAGE PICKUP	1,100.00 7.00 2.00	1,100.0 35.0 10.0
	DEDUCT 20% FROM TOTAL IF PAID WITHIN 30 DAYS OF INVOICE ROOKS CO	6.15%	176
	PAII 7.2. Ck+ 12	15 2/32	
nk you for yo	ur business. hone # Fax # E-mail	Total	\$4,738.5

globalcementing@gmail.com

1671

GLOBAL CEMENTING, L.L.C.

REMIT TO 18048 170RD RUSSELL, KS 67665					SERVICE POINT: Russell us			
		,					,	
DATE (0-8-/	S	SEC.	TWP.	RANGE	CALLED OUT	ON LOCATION	JOB START	JOB FINISH
LEASE Merenold	E 7	VELL#.		LOCATION			COUNTY	STATE
OLD OR NEW (C	-		5				115 30014 40	St.J.
CONTRACTOR	100	55 W	ell Ser	J. Ce	OWNER			
TYPE OF JOB HOLE SIZE	10	Surfa		D.				
CASING SIZE	6			EPTH	CEMENT	DERED 2005	1.01101	0/0001
TUBING SIZE	<u></u>	111		EPTH	AMOUNTORI	DERED	60140	o roger
DRILL PIPE	2			EPTH	Managara Salah Managara	JULY HE PERSONS	NAME OF STREET	CHICAGO CAGONA
TOOL				EPTH				
PRES. MAX				INIMUM	COMMON		0	
MEAS. LINE				HOE JOINT				
CEMENT LEFT IN C	SG.							
PERFS	3			THE SHOWLE SHOW				
DISPLACEMENT								
	I	EQUIPME	NT		Abc		a	-
							@	
PUMP TRUCK	CEMI	ENTER	Weath		-		@	-
0.00	HELP		oodu		-		@	_
BULK TRUCK			d.				@	
# 81	DRIV	ER Ala	than					
BULK TRUCK								
#	DRIV	ER					@	
					HANDLING		@	
					MILEAGE		6	
		DEM	DIZO				TOTA	L
0. 11/11		REMA	ARKS:	-60				
Kun / tub		coun	Dacks	de and				
100 (ement		- CON	in and	reulated to		SEI	RVICE	
Sur-lace	121	CEN	En" CI	reducer 10				
200	1000				DEPTH OF JOE			
						CHARGE		
						AGE		
								-
avvinance M	6	2:1			***************************************		@	
							тоты	L
STREET							IOIA	L
CITY	S	TATE	Z	P				
						PLUG & FLO.	AT EQUIPME	NT
Global Cementing	тт	C						
			rent ceme	nting equipment and				-
				wner or contractor to				
				s done to satisfaction				_
				ctor. I have read and				_
				ND CONDITIONS"			@	
listed on the rever								
noted on the rever	JU 310	. (F	of fire				TOTA	L
PRINTED NAME _					SALES TAX (If	Any)		
SIGNATURE					TOTAL CHARC	JES		



Global Cementing LLC

1958 E HWY 40 Russell, KS 67665

Invoice

Date	Invoice #
6/9/2015	1672
Due Date	7/9/2015

Bill To M.G. OIL INC PO BOX 162 RUSSELL,KS 67665



P.O. No.	Project
MCRENOLDS TR	. 10.2

Quantity	Description	Rate	Amount	
	COMMON	16.75	4,355.00T	
	POZ	7.50	300.00T	
	CALCIUM	59.00	295.00T	
305	HANDLING	2.10	640.5	
	BULK MILEAGE	152.50	152.5	
1	TRI-PLEX PUMP CHARGE FOR SQUEEZE	1,250.00	1,250.0	
5	PUMP TRUCK MILEAGE	7.00	35.0	
5	PICKUP	2.00	10.0	
	DEDUCT 20% FROM TOTAL IF PAID WITHIN 30 DAYS OF INVOICE			
	DECATUR CO	7.15%	353.9	
al*				
	PAID 7.2.15 CK#12132			
	H 1 H 1991119 will will be 10			
	m 1 1 2 10			

lotai Phone # Fax# E-mail globalcementing@gmail.com 785-324-2658 785-445-4174

5913.54

1672

GLOBAL CEMENTING, L.L.C.

REMIT TO

LEASE Toust

CONTRACTOR

TYPE OF JOB HOLE SIZE

CASING SIZE

TUBING SIZE

DRILL PIPE

PRES. MAX

MEAS. LINE

DISPLACEMENT

PUMP TRUCK

BULK TRUCK

BULK TRUCK

CEMENT LEFT IN CSG.

TOOL

PERFS

MESCACOLOS

OLD OR NEW (CIRCLE ONE)

18048 170RD

SEC.

WELL#.

EQUIPMENT

REMARKS:

CEMENTER HELPER

DRIVER

STREET ____

SIGNATURE _

RUSSELL, KS 67665

TWP.

Dress well serv

RANGE

T.D.

DEPTH

DEPTH

DEPTH

DEPTH

MINIMUM

SHOE JOINT

LOCATION

	MUS	ellas	
LLED OUT	ON LOCATION	JOB START	JOB FINISH
		COUNTY	STATE
OWNER			
CEMENT AMOUNT OF	EDERED 1005	60140	
20051	RDERED 1005/		
COMMON _		@	
-		@	
-		0	
		0	
HANDLING			
MILEAGE		0	
		TOTAL	
o gradulnik po i	SEF	RVICE	a marine
DEPTH OF JO			
PUMP TRUCK			
	AGE		
		1000 T	
-		_	
		TOTAL	
	PLUG & FLOA	AT EQUIPMEN	NT
-		@	
		@	
			0 1

TOTAL ____

_____ IF PAID IN 30 DAYS

SALES TAX (If Any)____

TOTAL CHARGES ___

DISCOUNT_

CITY _____STATE ____ZIP __ Global Cementing, L.L.C., You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read and understand the "GENERAL TERMS AND CONDITIONS" listed on the reverse side. Thank You. PRINTED NAME ___

Global Cementing LLC

1958 E HWY 40 Russell, KS 67665

785-324-2658

785-445-4174

Invoice

Date	Invoice #
4/30/2015	1665
Due Date	5/30/2015

P.O. No. Project

MCREYNOLDS T...

Quantity	25.00	Description	Rate	Amount	
	GMDC 60/40		20.69	9,931.20	
480	HANDLING		2.10	1,008.0	
	BULK MILEAGE		225.00	225.0	
150	COMMON		16.75	2,512.5	
	SALT		16.00	208.0	
3	GEL		23.50	70.5	
6	PLASTER		26.25	157.5	
172	HANDLING		2.10	361.2	
	BULK MILEAGE		86.00	86.0	
1	TRI-PLEX PUMP CHARG	SE FOR LONGSTRING	1,750.00	1,750.0	
	PUMP TRUCK MILEAGI		7.00	35.0	
	PICKUP		2.00	10.0	
1	4 1/2 AFU FLOAT SHOE		265.00	265.0	
	4 1/2 CENTRALIZER		57.00	570.0	
	4 1/2 BASKET		195.00	975.0	
	4 1/2 LD & BAFFLE		235.00	235.0	
1	270/ DISCOUNT IE DAIE	WITHIN 30DAYS OF INVOICE			
	DECATUR CO	WITHIN JUDATS OF HAVOICE	7.15%	0.0	
			The second second		
		PAID <u>ck#12010</u> 5/26/15			
		5/26/15			
nk you for yo	ur business.				
	none # Fax	# E-mail	Total	\$18,399.9	

globalcementing@gmail.com

Received 5-6-15

GLOBAL CEMENTING, L.L.C.

1665

REMIT TO

18048 170RD

RUSSELL, KS 67665

SERVICE POINT:

KUSSEU, KS

							,	
DATE 4-30-15	SEC. 9	TWP.	RANGE 7 W	CALL	ED OUT	ON LOCATION 3 PM	JOB START	JOB FINISH 9: 30Pm
LEASE MC REYNOLD	WELL#.	1-10uns	LOCATION				COUNTY	STATE
OLD OR NEW (CIRC	LE ONE)							
CONTRACTOR ROY, TYPE OF JOB		141116	R16#2		OWNER			
HOLE SIZE	PE JUD	TD	. 3486		CEMENT			
CASING SIZE	1/2	Finish	PTH 3449'	====	CEMENT ON	DERED 4805	motte De	7
TUBING SIZE			PTH		AMOUNTOR	com 10% S	elt 2% 01	1 2% olast
DRILL PIPE			PTH			011110103	0, 2,703.	· Proprior
TOOL Ø		DE	PTH					
PRES. MAX / 300 p	3.	- Protection	NIMUM	_	COMMON		@	
MEAS. LINE	, ,		DE JOINT WOOD 4	151				
CEMENT LEFT IN CSG.	45'							
PERFS								
DISPLACEMENT 5 4 8	PL			-				
	EQUIPMEN	VT		_	ASC		0	
							@ @	A 4
PUMP TRUCK CEN	MENTER 75	CAD HEATH	į.	- 31.4			@	·
<i>U</i> 1	PER						0	×
BULK TRUCK				-			@	-
	VER NATI	FAN			-		@	-
BULK TRUCK				_	-		@	
	VER Wood)4					0	
							@	
					MILEAGE		<u>a</u>	-
RUN IN 79 STS OF 3449'-CIRCULA 150 SX - ENGRE	75 1HR.	- MIX	150 5× m0 - 1	nix		SEF	RVICE	
15 min - Pump p	W6 6 6	BPM-2	ANO @ 54B	BL-	DEPTH OF JOE	R		
1300PSI - HELD	PRESSU	IRE - RE.	LEASE - DRY			CHARGE	the state of the s	
CETHERY DID NO	TOT CIEC	ULIRTE -	I Illing Hiss	CVC-		AGE		
@ 60005		- No. Habousetties				IOD	0770	
	67						@	
					MININ OLD		0	
							@	
CHARGE TO: M. G							<u>u</u>	
STREET							TOTAL.	
							TOTAL	
CITY	STATE	ZIP				DITIC & ELO	AT EQUIPMEN	т
						TEOG & FEOZ	AT EQUIT MEN	1
Global Cementing, L.	L.C.				AFU SHOE	4//2		
You are hereby requ		ent cement	ing equipment a	nd		Column & PLUS		
furnish cementer and	helper(s)	to assist ow	mer or contractor	to		2.10	@	
do work as is listed.					BASKETS			
and supervision of or					2101310013	(3)	0	
understand the "GE							@	
listed on the reverse s		Didito III						
	-30.						TOTAL	
PRINTED NAME					SALES TAX (If	f Any)		
SIGNATURE					TOTAL CHARG	GES		
					DISCOUNT		11	PAID IN 30 DAYS